12”0305 (K12n0305)

Linearized knot diagam

S]]

3 6 7 10 2 5 11 12 4 7 8 10

Solving Sequence

7,10{» 11?8? 126» 1,5?4?3?6?2?9%01,05,08
A knot diagrarrﬂ o 67 i 12 4 3 6 2 9

Ideals for irreducible component#ﬂ)f Xpar
I = (-3u® —6u'®+ - +2b6—3, —u'? — 120" + -+ da+ 11, v® + 40" + -+ 2u+ 1)

Iy = (b, a® — d*u+a* — 2au +4a — 2u + 3, u® —u—1)

* 2 irreducible components of dim¢ = 0, with total 26 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} =
(—3u'?—6u'®+-...+2b—3, —ul?—12u'®+...+4a+11, u2°+4u'%+. . .+ 2u+1)

(i) Arc colorings

1
a0 = \0
1
a1l = U2
—u
ag = \ —ud+u
—u? 41
a12: _u4+2u2
ut —3u?+1
a] = _u4+2u2
iu19+3u18_~_ . — 15y — %
a5 = 319+3u18+ +2U+§
Tul 4 6u'S 4 —13u—2
a4 = §u19_~_3u18_’_” +2’LL+3
Tu' 4+ 6ul® + - —13u—g
as = _iulg 11 w4t u+
_iuls 3u17+~~—24—1u—%
ae = u® — du* + 3u? + 2u
Tutt Sl +£1fu+
a2: iu19+;18+'_._2u+
ud —2u
a9 = \ud —3ud+u
(ii) Obstruction class = —1

(iii) Cusp Shapes
— _2u19 8u18+16u17—|— 121 16 — 22u 15 933 14 192u13+ 2425u12+ 19281u11
1627u'® — 20790 + 18448 4 215617 4 431uS — 908u°® — 571u’ B4+ 72u% +29u — F



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq u?? +9u? . 4 2lu+1
Co2,C5 w0+ 3w —Tu—1
3 u? —3ut 1T -1
C4,Co w0 — ! — 2240 — 64
€7, C8, C10 w0 40 o 2u 1
C11
c12 u?® — 200" + - - — 3324u — 239




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1,Ce v Tyt 221y + 1
2, Cp v =9y =21y 41

Cs y?0 —53y" + .. — 69y + 1
¢4, Co y?0 — 35y + ... — 5120y + 4096

C7,C8,C10 y20 732y19 4. 726y+1
C11
20 19
C12 y“® — 116y~ + - - - — 2215058y + 57121




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.995757 4 0.1625021
a= 0.409533 + 0.9929121
b = —0.250501 — 1.0347001

—1.72654 — 2.011651

—16.2599 + 2.96651

u = —0.995757 — 0.1625021
0.409533 — 0.9929121
—0.250501 + 1.0347001

—1.72654 + 2.011651

—16.2599 — 2.96651

—0.618715 4 0.5436821
1.42405 — 0.185041
—1.183060 — 0.429676.1

—1.91039 + 3.314911

—16.4023 — 5.77781

—0.618715 — 0.5436821
1.42405 + 0.185041
—1.183060 + 0.4296761

—1.91039 — 3.314911

—16.4023 + 5.77781

1.332060 + 0.1999121
0.389569 + 0.4393681
= —1.42120 + 0.013011

—6.30937 — 1.468091

—15.3912 + 0.59971

1.332060 — 0.1999121
= 0.389569 — 0.4393681
—1.42120 — 0.013011

—6.30937 + 1.468091

—15.3912 — 0.59971

= 1.37734 + 0.359401
= —0.841843 — 0.7391181
= 1.77867 + 0.012691

—8.39761 — 6.663441

—17.7359 + 5.04301

1.37734 — 0.359401
—0.841843 + 0.7391181
1.77867 — 0.012691

—8.39761 4+ 6.663441

—17.7359 — 5.04301

—0.221606 + 0.3294501
= —0.272738 4 1.2959307
0.671635 — 0.2094941

—0.674628 — 0.1652981

—12.57313 — 0.796761

—0.221606 — 0.3294507
—0.272738 — 1.2959301

b
u
a
b
U
a
b
U
a
b
u
a
b
u
a
b
u
a
b
u
a
b
U
a=
b= 0.671635 + 0.2094941

—0.674628 4- 0.1652981

—12.57313 4- 0.796761




Solutions to I V—1(vol + /—1CS) Cusp shape
u = —0.370071
a= 0.180421 —0.654279 —14.9070
b= 0.474305

u= 1.63979 + 0.13284]
a = —0.602671 4 0.3565881
b= 0.982271 — 0.8472391

—10.89840 + 0.581681

—20.0520 — 2.96171

u= 1.63979 — 0.132841
a = —0.602671 — 0.3565881
b= 0.982271 + 0.8472391

—10.89840 — 0.581681

—20.0520 4 2.96171

u= 0.328694 + 0.0523431
a = —0.15243 + 3.848801
b= 10.004947 — 0.4828701

2.50647 4 2.745941

—1.72205 — 1.879161

u= 0.328694 — 0.0523431
a = —0.15243 — 3.848801
b= 10.004947 + 0.4828701

2.50647 — 2.745941

—1.72205 4 1.879161

u = —1.84665 + 0.063831
a = —0.420429 + 0.5240031
b= 2.10366 —0.429741

—18.2504 + 2.86931

—15.5779 — 0.34441

u = —1.84665 — 0.063831
a = —0.420429 — 0.5240031
b= 2.10366 + 0.429741

—18.2504 — 2.86931

—15.5779 + 0.34441

u = —1.85353 + 0.109251
a= 0.515285 — 0.8645811
b= —2.14536 + 0.731321

19.1451 +9.08471

—17.3799 — 4.29041

u = —1.85353 — 0.109251
a= 0.515285 4 0.8645811
b= —2.14536 — 0.731321

19.1451 — 9.08471

—17.3799 4 4.29041

u = —1.91314
a= 0922913
b= —2.55644

14.2074

—19.9050




II. I¥ = (b, a® —a’u+a® —2au+4a —2u+3, u> —u—1)

(i) Arc colorings

as —

ayq =

ag —

w=(3)

(ii) Obstruction class =1

(iii) Cusp Shapes = 2a%u + a® + 2au — a + 3u — 19



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,3 (u® —u? +2u — 1)?
Ca (u® 4+ u? — 1)
C4,Cy u®
cs (u® — w2+ 1)
6 (u® +u? +2u+1)2
cr,C8 (u? +u—1)3
€10, €11, C12 (u? —u—1)*




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,Cq (y3+3y2+2y— 1)2
C2,C5 (v’ —y* +2y—1)°
Cq,C9 ?JG
C7,C8,C10 <y2 _ 3y 4 1)3
C11,C12




(vi) Complex Volumes and Cusp Shapes

Solutions to IY vV—1(vol +/—1CS) Cusp shape
u = —0.618034
a = —0.922021 —2.10041 —18.9930
b= 0
u = —0.618034
a = —0.34801 + 2.115001 2.03717 4 2.8281271 | —19.0485 — 4.38181
b= 0
u = —0.618034
a = —0.34801 — 2.115007 2.03717 — 2.8281271 | —19.0485 + 4.38181
b= 0
u= 1.61803
a= 0.132927 4 0.8078581 | —5.85852 — 2.82812] | —16.5384 4 2.71621
b= 0
u= 1.61803
0.132927 — 0.8078581 | —5.85852 + 2.828121 | —16.5384 — 2.71621
b= 0
u= 1.61803
a= 0.352181 —9.99610 —12.8330
b= 0
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 (u —u® 4+ 2u — 1)) (u® + 9u'® + -+ + 21u + 1)
€2 (w +u? = 1)) +3u 4+ —Tu—1)
€ ((u® —u?+2u—1)%) (W™ = 3u™ + - = 17u — 1)
¢4, Cg ul(u?® —u? 4o — 224y — 64)
€ (0 —u® + D)W +3u'® + - = Tu—1)
6 (u +u? +2u+ 1)) (W +9u'® + -+ 2lu+ 1)
c7, c8 (v 4u—1)*w? +4u'® + - F2u+1)
€10, €11 (u? —u— 1) + 4+ +2u+1)
c12 (u? —u —1)*)(u*® —20u'? + - - - — 3324u — 239)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, co ((* +3y> +2y — 1)*) (> + Ty" +--- = 221y + 1)
C2,C5 ((v° —y* +2y = 1)) (> = 9y" +-- =21y + 1)
€3 (v + 3y + 2y — 1)) (y*° — 53y + - — 69y + 1)
C4, Co yo(y*° — 35y + - — 5120y + 4096)
C7,C8,C10 ((y2 —3y+ 1)3)(y20 _ 32y19 =26y +1)
C11
c1o (y* — 3y + 1)*)(y*° — 169" + - - — 2215058y + 57121)
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